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[nstructionsi 1) Attempt all questions,
2) Figuie to the vight Indleatew all marks,
3) Use ol non - programmable culeulntor ¢ wlluwod,
) Log tables and graph papers will bo wupplied vl retfuoal, -

QL: Attempt the followlng:

) Bxpluin the function of Statistles, (ko)

b) Considor the following duti about wolght (i k) of 25 workors: (Gimks) =
67,2, 54.3: 72.3; 49.8; S8.3; 63.8; 77.0; §2.3; 95.9; 60,01 69.33 49,11 54,8, 06,8, 12,3, 115 14 2.
67.13 7115 55.8; 48.9: §3.2: §5.9; 60.3; 72.3
Prepare frequency lable, Also propare frequency tuble andl percantago froquency tubla.

¢) Consider the following data: (Timkn)
Cd 1020 2030 30-40 40-50 50-60 60-70 70-80  80-90
Fooos 12 1 48 4 L
Find mean and medinn,
OR
Ql: Attempt the following:
x) Define Statistics. (3miks)
y) Consider the following data: (tmks)
x 20-40 40-60 60-80 80-100 100-120 120-140 140160
10 21 34 45 30 I8 8
Draw frequency polygon.
2) Find mode for the following data: (7imks)
C1 45-50 50-55 S55-60 60-65 6570 70-75 75-80
Freq 10 15 26 21 18 10 4
Q2: Attempt the following:
a) Bring out the difference between Primary Data and Secondary Data. (3mks)
b) Find the quartile deviation for the following data: (6mks)

c.l 20-30 30-40 40-50 50-60 60-70 70-80
Freq 8 10 15 20 11 7
¢) Consider: (7mks)
Year 2010 2011 2012 2013 2014 2015 2016
Price 10 15 21 34 33 40 47
Find the price index number for all the years with base 2012.

OR
Qll: Attempt the following:
x) Distinguish between inclusive type and exclusive type of class intervals. (3mks)
y) Consider the following data: ‘ (6mks)

cl 0-10 10-20 20-30 30-40 40-50 50-60
F 10 3 14 18 13 6
Find the Harmonic mean.

z) Consider: (7mks)
Commodity Price Weight
Base Year Current Year
A 10 14 10
B 20 25 12
C 8 12 8
D 15 15 6

Find 1) Weighted Average of Price Relative.
2) Weighted Aggregative Price Index number.
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Q3: Attempt the following: )
a) Explain sub-divided bar diagram.
b) Consider the following data:

Year
Sale

(Ra.In
Crores)

Find the trend by the method of semi- nveragcs-d
¢) Find the coefficient of mean deviation from mode

2010 2011 2012 2013 2014
2 25

1215

20

2015 20
23

C.l 30-40 40-50 50-60 60-70 70-80 80590

F 12

18

QIII: Attempt the following:

X) What is the need of diagrammatic representation of data.
y) Fita trend method of three yearly moving averages fort
2012 2013 2014 201

Year 2010 2011
Prod 20 26
(In tons)

25

24

z) Consider the following data:
x 0-10 1020 20-30 30-40 40-50 50-60 60-70

f 1

18 20

17

32

25

7

OR

38

20

Find Coefficient of Quartile Deviation.

Q4: Attempt the following:
a) Explain 1) Frequency Polygon. 2) Splicing and 3) Seasonal Trend.
b) Find the mean deviation from median for the following data:

30-40 40-50 50-60 60-70 70-80 80-90 90-100

Cl
Freq

4

10

18

c) Consider the following:
2013 2014 2015 2016 2017

Year

Sale
(Rs. In

Crores)

Fit a line of best fit by method of least square and hence estimate sale in 2018.

20 24

QIV: Attempt the following;

x) Explain 1) Cumulative Frequency. 2) Deflating and 3) Secular Trend.

30

20 13

3340

29

14 10

I

OR

y) Find the mean deviation from mode for the following data:

CIl 20-30 30-40 40-50 50-60 60-70 70-80 80-90
S 3

z) Fit a second degree trend curve for the following:
2012 2013 2014 2015 2016 2017

F

Year

Sale
(In

000's)

8

8

12

10

16

13

20

12

Also estimate the sale in 2018..

Q5: Attempt the following:
a) Define Continuous variate.
b) Consider the following data:

x 20-40 40-60 60-80 80-100

f

7

10:

16

10

10

15

5

20

100-120

. Find Karl Pearsons Coefficient of Skewness,
¢) Consider the following data:

28

6 2017

20

for the following:

he following data:
5 2016 2017 20(;8
36 42 4

7

Commodity Price . Quantity Consumed
Base Year | Current Year | Base Year Current Year
A b 10 3 5
B 20 25 4 8
C 10 12 2 2
D 6 9 - 10 12

Find cost of living index number.

(Jmks)
(6mbkg)

(Tmks)

(3mks)
(6mks)

(Tmks)

(3mks)
(6mks)

(Tmks)

(3mks)
(6mks)

(7mks)

(3mks)
(6mks)

(7mks)
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OR

QV: Autempt the following:
x) Explain 1) Parameter. 2) Statistiscs. (Jmks)
y) Consider the following data: (Omks)
C. 20-25 25-30 30-35 35-40 40-45 45-50 50-55 55-60
No ol Workers 2 8 15 22 17 10 7 4

Find Bowleys Coefficient of Skewness.

2) F'ind fishers price index number for the following data: (7mks)
' Commodity Base Year Current Year
Base Year | Quantity | Base Year | Quantity

A 6 2 10 6

[ B 15 14 18 15
C 10 20 13 25 .
D 17 30 21 30
E 8 10 6 12
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